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QUESTION 1

What are three benefits of the RESTful Interface Tool for enabling the new style of IT? (Select three.)
A. reduced issue resolution time

B. increased high availability

C. easy customization

D. simplified scripting

E. lower facilities costs

F. reduced deployment complexity

Correct Answer: CDE

QUESTION 2

What is a frame requirement for the HPE Synergy Image Streamer?
A. redundant Master modules in each frame

B. a minimum of three Synergy frames

C. fully populated Synergy compute modules in each frame

D. a single Composer in each Synergy frame

Correct Answer: B

QUESTION 3

How does HPE offer infrastructure as a service differentiator?

A. providing a dedicated manual process for each infrastructure product
B. using converged, software-defined, and cloud ready resources

C. offering a siloed technology-centric physical infrastructure

D. optimizing workloads with a common modular architecture

Correct Answer: B

QUESTION 4

A solutions architect is designing an HPE ProLiant BladeSystem and HPE StoreVirtual storage solution for a customer,
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and needs to estimate power requirements.
Which HPE tool should the architect use?
A. HPE Insight Management Sizer

B. HPE OneView

C. HPE Power Advisor

D. HPE Power Discovery Services

Correct Answer: C

QUESTION 5

A customer needs a high-level fault-tolerant solution for critical data. The customer uses eight large-capacity SAS drives
as a single disk volume.

Which RAID level should the architect recommend to protect the customer against double drive failure?
A. RAID 1 with a hot spare

B. RAID 6

C. RAID 5 with a hot spare

D. RAID 5

Correct Answer: B
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